
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Esponenti negativi di 10

10 =(−1) 10 =(−4)

10 =(−3) 505, 6 × 10 =(−4)

785, 7 ÷ 10 =(−3) 166 ÷ 10 =(−1)

301, 2 ÷ 10 =(−3) 122, 2 × 10 =2

10 =(−2) 10 =(−3)

1 × 10 =(−2) 670, 2 ÷ 10 =(−1)

10 =(−2) 1 × 10 =2

10 =(−3) 399, 8 × 10 =(−3)

455, 8 ÷ 10 =(−1) 8 × 10 =(−2)

−3 × 10 =(−3) 10 =(−3)
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Esponenti negativi di 10

10 = 0.1(−1) 10 = 0.0001(−4)

10 = 0.001(−3) 505, 6 × 10 = 0.05056(−4)

785, 7 ÷ 10 = 785700(−3) 166 ÷ 10 = 1660(−1)

301, 2 ÷ 10 = 301200(−3) 122, 2 × 10 = 122202

10 = 0.01(−2) 10 = 0.001(−3)

1 × 10 = 0.01(−2) 670, 2 ÷ 10 = 6702(−1)

10 = 0.01(−2) 1 × 10 = 1002

10 = 0.001(−3) 399, 8 × 10 = 0.3998(−3)

455, 8 ÷ 10 = 4558(−1) 8 × 10 = 0.08(−2)

−3 × 10 = −0.003(−3) 10 = 0.001(−3)
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